CALCULATED Diesel Exhaust PM Risk (Potential Cancer Cases in A Million) for 550 HP Engines

EF = 0.01 g/bhp-hr EF = 0.15 g/bhp-hr
Downwind Distance (m) Downwind Distance (m)

Hours | 30 | 50 | 69 | 100 [ 200 | 300 | 400 | 500 | 800 | 1600|3200} 30 | 50 | 69 [ 100 | 200 | 300 | 400 | 500 | 800 | 1600|3200
10 Jofo] o] o 0 0 |lo]o 0 0| o 1 [1]1]1]0 0 0 |lo]o 0 0
20 Jofo] o] o 0 0 |lo]o 0 0| o 2 l2]12] 1] 1 0 0 |lo]o 0 0
30 JoJo| o[ o 0 0o |lo]o 0 ol o] 3 |3[3|[2]1 0 0o |lo]o 0 0
40 JoJo| oo 0 0o |lo]o 0 o |l o] 3|3|[3|[3]1 1 0o |lo]o 0 0
50 0 0 0 0 0 0 0 0 0 0 0 4 4 | 4 3 1 1 0 0 0 0 0
100 1 1 1 0 0 0 0 0 0 0 0 9 9 9 7 3 1 1 1 0 0 0
200 | 1| 1 1 1 0 0|lo]o 0 0| o 5 3 2 2 1 0 0
300 | 2| 2 2 1 1 0 |lo]o 0 0| o 8 | 4| 3 2 1 1 0
400 | 2| 2 2 2 1 0 |lo]o 0 0| o 6 | 4| 3 2 1 0
500 | 3| 3 3 2 1 0 |lo]o 0 0| o 7 5 | 4 2 1 0
1000 | 6 | 6 6 5 2 1 1 1 0 0| o 8 | 4 2 1

EF = 0.40 g/bhp-hr EF = 0.55 g/bhp-hr
Downwind Distance (m) Downwind Distance (m)

Hours | 30 | 50 | 69 | 100 [ 200 | 300 | 400 | 500 | 800 | 1600|3200} 30 | 50 | 69 [ 100 | 200 | 300 | 400 | 500 | 800 | 1600 3200
10 |22 2 2 1 0o |lo]o 0 ol o] 3|3[3|[2]1 1 0o |lo]o 0 0
20 | 5[5] 5| 4 1 1 1| o 0 0| o 6 | 66| 5] 2 1 1 1| o 0 0
30 | 7| 7 7| 5 2 1 1 1 0 0| o 9 [ 99| 7] 3 2 1 1| o 0 0
40 | 9] 9 9 7 3 2 1 1 0 0| o 4 2 1 1 1 0 0

9 3 2 1 1 1 0| o 5 3 2 1 1 0 0
7| 4] 3 2 1 1 0 9 5 | 4| 3 2 1 0
8 5 | 4 2 1 1 7 6 | 3 2 1
8 6 3 2 1 8 5 2 1
8 5 2 1 6 3 1
6 3 1 | 158 | 158|158 124 8 | 4| 2
5 | 3 |315[315|315] 249 8 | 4
EF = 1.00 g/bhp-hr
Downwind Distance (m)

Hours | 30 | 50 | 69 | 100 [ 200 | 300 | 400 | 500 | 800 |1600| 3200
10 | 6f 6 6 | 5 2 1 1 1 0 0| o
20 9 3 2 1 1 1 0| o
30 5 3 2 2 1 0| o
40 7|1 4] 3 2 1 1 0
50 8 5 | 3| 3 1 1 0
100 7 5 3 1 1
200 |115(115] 115 6 3 1
300 |172[172| 172 | 136 9 | 4| 2
400 | 229|229 | 229 | 181 5 | 3
500 | 287|287 | 287 | 226 7 3
1000 | 573|573 | 573 | 452 [ 169 7

Assume: 100% load.
Calculated Risk using Equations - Urban Option.
The bold number indicates the downwind distance at the maximum risks.



